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[, Given that quadrilaterai ABCD in Figure & 15 d
’ aralletogram, which of the following stq(emems
Svou\d lead to the conciusion that ABCD 1s a rect-
angle”?

(A) AC and BD are the perpendicular bisectors of

each other
(B) AB = CcD

(D) £DAB and /CBA are supplementary
(E) £DABand / CBA are equal In measure

A set of points is said to “determine” a plane
if there is exactly one plane that contains all
of the potnts. Which of the following does not

determine a plane?

(A) A tnangle

(B) Any three points

(C) Alineanda point not on the line
(D) A pair of intersecting rays

(E) A pair of intersecuing lines

(3] IfAand 8 are two different points that lie on
line CD and also on line £F. which of the
following statements must be true?

[. Lines AC, BF ,and £D are all parallel.

[I. PointsA,B,.C,D, E.and £ all lie on the
same line.

[TI. Powts A, B,C,and £ all lie in the same
plane.

(A) Tonly

=

['and [T only

o

[T only
[Tand Hlonly -
) I only

GiC

|

(4] If A, B,C, and D are any four distinct points
of a plane P, which of the following must be
true?

[. Line AB must intersect line CO.
1. Line AB can contain a point not tn plane
P.
[II. Any point of intersection of any of the
pairs of lines containing A, 8,C, and D
must tie in plane P.

(D) IL' onwey
(e) m 0n13

(A) lonly
(B) Tand [l only
(C) [Tand Uloaly

~[n Figure 2. lines Ly and Ly are NOT parailel and

! will intersect at sume point to the nght ot the page.
Which of the tollowing must be true’

[, c=¢
. b>d L a7 b
(Il. a=c¢

(A) lonly o /g
(B) Ilonty e

(C) lonly Figure 2
(D) [and (I only

(E) II and IIT only

CIfda=(-1,2)and B=(2.—1), where A and B are
two points in the coordinate piane, then what is the
length of segment AB?

Ay |
(B) 2
) 3

n operation, o, on the numbers a 3ad b is defined
e formula ao b = 2(a + 2b)/For what values

S, Which of the following statements about

angles ts NOT true?
(A) Anangleof atriangle may have a degree

measure of [80.

(B) An angle of a triangle may not have a
degree measure greater than [80.

(&) Tyo angles may be complementary
without having a common side.

(D) The degree measure of an angle does not
depend on the lengths of its sides.

(E) A triangle cannot have two aght angles
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? [ (1) point P is in the intenor of LLMN , (2)

point W is in the interior of LXVZ, (3) the
measures of ZLMN and LXY Z are equal, and
(4) the measures of LPMN and LWYZ are
equal, which of the following must be true?

[, ZLMP and £PMN are adjacent angles.

[1. The measure of ZLMN equals the sum
of the measures of ZLMP and LPMN.

[II. The measure of ZZYW = measure of
LLMP. &
(D) T and I onty

(E) Iand I only

(A) Tonly
(B) U only
(C) Iand O only

[f in the figure ZCOE and ZBOD are right
angles and the measure of ZBOC s theee
tmes the measure of ZCOD, then the mea-
sure of ZAOR is

(A) 20° 4

L c b

(B) 223

(C) 30° 3

(D) 4535°

(E) 60° —e— e
A (8] E

If ZAOB s a right angle, decide whether you
can conclude that ZA0D and £BOC have the
same measure. Which of the following justi-
fies your conclusion?

(Figure is not drawn ro scale.)

(A) This conclusion cannot be justified from
the information given.

(B) Complements of congruent angles are
congruent.

(C) Supplements of congruent angles are
congruent.

(D) Vertical angles are congruent.

(E) If two intersecting lines form one nght
angle, they must torm four nght angles.

/3

N 4

/2 In the tgure ZAY B and ZCXOD are nght

angles AY =CX.and BX = DX =CY Euach
of the followwng 15 true EXCEPT

{(A) BX +XY =8Y

(B)Y XY +CY =CX

(C) XY =8BY -BX =CX-Cr
(D) BX =CX

(E)y BY =CX

D

(Eigure (s not drawn o scale.)

If, 1n the accompanying figure, 4D L DOC,
AD L BD, and OC = BD, which of the fol-
lowing statements is NOT necessarily true?

A

d
D

(A) £DBC and _4DCB are equal in measure.
(B) AADB = AADC.

(C) AB = AC.

(D) ZABC and LACB are equal in measure.

(E) £BAC and £BDC have the same mea-
sure.

If A, B, and C are any three points of a plane
for which AB = 5 and BC = 7, which of the
following can be the length of AC?

(A) O
B) |
() 2
(D) 13
(E) 15



Segment AC 1s perpendicular to/plane £. “(SL [t L, and L; are the perpendicular bisectors of
The angles have the measures indjcated while segments XY and YZ. which of the following
ZADB and ZABD have measurgs 70 and 50 must be true? s
respectively. [fsegments AD. AL AE . and AB
are aranged 1 order from shofriest to longest, LA =4 =42

hich of the following 1s the result? (I A, X and Z are collinear

HI. £y and L1 lie n the plune determined by
X. Y. and Z

(A) Tonly

(B) Iand I only
(C) land I1I qnly

[16] For a pentagon, 3 is the longest side and 2 (D) I and Ml only

—— s the shortest. Which of the following could (E) I only
not be the length of a diagonal?

A 3 ///NT.'lloen/ﬂjof‘ hao 5 (19] If it is given that an altitude of a triancle

) - sc ) bisects its base. which of the following can
4 clas be proved?

(Cy 5 '

o (A) the tnangle is isosceles

(B) the tnangle is equilateral
(C) the triangle is a right tniangle
(D) the triangle has an obtuse angle

(E) the triangle has three acute angles

20, In the figute, AB || CD. AD l.\ 8C,and DC #
) BC. Which of the following s NOT a correct

conclusion?
- c

ﬁAopemago has sydes of lengths shown in the
gure. The fang of possible values of x is?

A B

LY ' (A) AADC = ACBA

| (B) £DCA has the same Measure as. ZBCA
(C) £ADC has the same measure as £ZCBA
(D) AD = BC

(E) DE = BE
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23,

equal areas:

{A) only I
(B) only III
(C) only I and
(D) only I apd 10
(E) LI a

Given the statement “If x = 2, then x* = 4.” The nega-
tion of this statement is

(A) x=#2 and x* =z 4
(B) x=2 and x* = 4
(C) xz2orx*=4
(D) x#2, and x* =4
(E) r22o0rx* 24

— 25

26.

27.

Given these statements:

. Some numbeys are not prime.

conclusion 1s

(D) fome men de not smarties
no man 1s a sinartie

Given the statement “The student will not pass the
course only 1f he does not come to class,” which one
of the following can be concluded?

(A) If the student does not pass the course, then he
probably missed too many classes.
(B) If a srudent comes to class, then he may pas

course.

(C) If a srudent comes to class, then he will pass the
course.

(D) If a student passes the course, then he came to
class.

(E) If a student does not come to class, then he will
not pass the course.

The contrapositive of p — ¢’ is

()= note § mears g

B) p' - q'

(C) g =p

D) g =p

E)qg - p
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